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2. 4 &4
1) EAI gHAL - ypp A7 E4
Server = Client = ZE 4
DEMSHO{ME QEAIAH 7072 (TBD) UDP

2) Byte Ordering : Big-Endian

Z| &9l BIO[EMSB)S HA EL{jL, [t HIO|E(LSB)= YLHEO| 2H
3) HlO|E ¥Al  : Byte ¥4

4) Xt 2Y  : UTF-8

5) ZEHD : 7072
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1) 2 A|AHIO| ZQS "HEADER + DATA'E FA3tH, "HEADER"Q| A1}
"COMMAND" £&2 L3t ZCt
= HEADER /4 (10 BYTES)
g5 =L Hlo|E{37| Hole g9
STX1 SAZY Ao AlZF 2% 1 (0x7E) 1 BYTE
STX2 SAZY Ao AIZF 2% 2 (0x7E) 1 BYTE
SEQUENCE #=XHS (0 ~ 255) 1 BYTE
TIME S A|ZE (32BIT) 4 BYTE
COMMAND HHIC 1 BYTE
DATA LENGTH | HIO|E Z2{2j2| BYTE ZO] 2 BYTE
= COMMAND 22
S |COMMAND A9 ot - ) H|2
1 OxFO WAZ M 2FdE ME5-1 MZMH - 2EAH
2 OxF1 BN M L2ASSE SEHACK- | MM 2 EAMEH ol H
3 OxF2 WAZ Mg ME-2 MNZMH - FEAMH
4 OxF3 WA2 M RFsa 2L (ACK) MM F A, ol H
5 OxF4 wAE FI|HE ME UMY - 2[FAH
6 OxF5 A2 EH S ELACK) MM F A,
7 OxF6 WAZ DB M& MBIAMH - EAMH
8 OxF7 A E-BB-SEHHACK MDA QA
9 OxFg Mo =0 MM QA S
= MH HA|X| F+4 (HEADER + DATA)
HEADER DATA
STX1 STX2 SEQ. TIME COMMAND LENGTH DATA
1 byte 1 byte 1 byte 4 byte 1 byte 2 byte [Length] Bytes




4. HOIH &M =

ojnu

o) 800 (A2 %) x 3 bytes = 2400 bytes &
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0 | RING A°| O|FZHRH= (1 ~ 21)
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0 | RING BO| O|ZHHZ (1 ~ 21)
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HBEHAE "HXE AEHS"2H N/He| WXEE AKMo =z MEDICt
BYTE ig= BIT Mo
; Df; 16 BIT | EXNE WX2 A|ZRHSZ (1 - 9999)
3 7 -~ 5 | RING A2| PHASE (0 ~ 7)
S A 4 - 0 | RING AS| STEP (0 ~ 31)
4 ac 7 -~ 5 | RING B2| PHASE (0 ~ 7)
4 -~ 0 | RING B9 STEP (0 ~ 31)
7 X017| SAlatEf 1: EAFAIL 0 HA
6
5 28 Hes 0 : UEHA|, 1~5 : AIXIH|, 6 : HEH
4
5 ;g)géH 3 | TfiE 9s 0 UABITAIE, 1 GEUAE
> 0:SCU 1¥F7| 2E
1: Z35X| Y%= OFFLINE MO ZE
1 WEMZY| RYZE 2 . H4ES&|= OFFLINE A2 E
4 gSE= 222 Ho2E
0 5: Zr8SHK| 2= =222 MozE
7 POLICE PANEL =& TI&H Sw 1: 0N, 0: OFF
6 POLICE PANEL =5 SW 1: 0N, O0: OFF
5 POLICE PANEL M & sw 1: 0N, O: OFF
6 X0{7| 4 POLICE PANEL &5 SwW 1:0N, 0: OFF
SEf 3 D AEY 1: 822, 0: 34
2 A5 AER 1: 25, 0: &
1 HE HER 1: 8% 0: HY
0 Cll O] E{H| O] A AfEH 1:04 0: 8N
7 - 7| COUNT 0 ~ 255 &
8 - o 7| 0 ~ 255 %
9 - oz AH AZ OFFSET
10 - A-ring O|SFH= 1-21 (Blx} =80 2
11 - B-ring O|sFH= 1-21 (Bx =802 2
12
- WAZ AZHS+1 NS 2HHE (9 Bytes)
20
21
- DXZE AEHZ+2 MS2EHE (9 Bytes)
29
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fot
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F/8E  FI| BE = Split & NS
3

m 37| ZE T Ring-A Ring-Bo| 2F3 HA|ZEE ™ETHCE
n YEMSEZ N/ WXtz HEE AHKS10 ME0| 7IsoSto)
BYTE a5 BIT aY
; AKE HDS 16 BIT | MEM2 DA2HS (1 - 9999)
3
- RING-A 2YA[ZF | 8 Bytes | PHASE 1 - 8
10
11
- RING-B 2%A|Zt | 8 Bytes | PHASE 1 - 8
18

QUM mALZ H3/ Ring-A / RING-B 2A|Zt (18 Bytes)

3B WAtZ B/ Ring-A / RING-B @ZA|ZF (18 Bytes)

4R WXE #HD/ Ring-A / RING-B 23A[7 (18 Bytes)




4) WXIZ DB HE : WXlZ DB HAEA| H& (JSON E7|)
@ WXE WEEK PLAN
m JSON EH7|

WEEK PLAN JSON H7|

WEEK PLAN data &H

{

“type" :
"data” :
}

“Icid” : number,

1

‘weekplan”,
number(],

data :

7 plan_no

plan_.no = 1 ~ 10

m week plan table 9|

2oy =R s22

s Y11
TR =

=823 =8% ERT

0

1} 0




@ WXE DAY PLAN

m JSON H7|
DAYPLAN JSON 7| DAYPLAN data &¥
{
“Icid” : number,
“type” : "dayplan”, plan_.no = 1 ~ 10
"plan” : { time : [A_flow_no, A_red_time, A_yellow_time, A_min_time,
“plan_no": number, B_flow_no, B_red_time, B_yellow_time, B_min_time]
“time" : number[], data : [hour, min, cycle, offset, split[16]]
"data” : number(],
HI
}

m FLOW/RED/YELLOW

SiA| A-ring B-ring
SiA|
SiA|
SiA|
SiA|
SiA|
SiA|
SiA|
oA

® DAY PLAN TIME Table

ofn
= 1]
rE
fot

Ol5FH#= | red_time | yellow_time| O red_time | yellow_time

O|NO UM W=

M2 F ¥WE 1A 1B 2A 28 3A | 3B 4A 4B S5A 5B 6A 6B 7A 7B BA BB
1|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
5|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
6 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
8 | 0 0 0 0 0 0 0 0 0 i 0 0 0 0 0 0 0 i 0 0
9 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
10| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
11| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
12| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
13| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
14| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
15| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
16| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0




® WAtZ HOLIDAY PLAN
® JSON H7|

HOLIDAY PLAN JSON E7|

HOLIDAY PLAN data

EE

{
“lcid”:  number,
"type”: "holidayplan”,
"data”: numberf[],

}

[month, day, plan_no] * 30
plan_.no = 1 ~ 10

® HOLIDAY Plan Table

BEle @~ o wnisw N =
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@ SIGNAL MAP (Ring-A , Ring-B)
® JSON H7|

SIGNAL MAP JSON E7|

SIGNAL MAP data A

{

“lcid”:  number,
“type": "signal_map”,

"data”: {

“map_no” : number,
“a_ring” : numberf[],
"b_ring” : numberf],

Hl,
}

map_no =1 -6
[output[16], min, max, eop] * 32 step

B SIGNAL MAP Table
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WXtZ 7|Erg e 7y
m JSON EH7|

WAL 7|¥PEE 74 JSON E7| | WAL 7|8PEE 74 data MY

" {
“Icid”: number,

"n,

“type": "geo_map”,

“intName”: string, // nX=2H

"intType”: number, // DXZQE (0: FTUALZ, 1: HEUXIR)

“IcType": number, // M7l S8 (1: 20043H, 2: 2010 9, 3: 2023HE)
“lampType”: number, // &71 Y (1. 445, 2. 3M5)

= ]
“mainintNo”; number, // 9SuXIZ2Q A2 FTuXZE HS
“groupNo”: number, /) A5HS
“nodeNo": number, // X2 =E D

“intLat”; number, // BXZ2 Q= (ex : 36.123500)
"intLng”: number, /) A2 BT (ex : 127.123500)
“ppcType”: number,  // PPC §& (0 : AX|CtE, 1 : AZYYA, 2 . ZUH 0ofHA]
“mainP": number, /] FEAHZ (1 - 8)
“flow": {
“num”: number, // Ols&F H=

oTr
"geoXY: number[],  // SHE AR /AL, FUH /4, ZEH /AL,
M
}
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